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w= 7

== LDouble:0.6 +0.1
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== LDouble:0.6 +0.1

w=0.7
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stackoverflow.com

4. The problem is not with Java but with the good standard float's (http://en.wikipedia.org
Iwiki/IEEE_floating-point_standard).

You can either:

» use Double and have a bit more precision (but not perfect of course, it also has limited
precision)

e use a arbitrary-precision-library

¢ use numerically stable algorithms and truncate/round digits of which you are not sure they are
correct (you can calculate numeric precision of operations)

share improve this answer answered Jul.15. 11 at 22:12

A You could use doubles instead of floats

2 share improve this answer answered Jul 1511 at 22:08
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== LDouble:0.2+0.1
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n. Float
1l € b
< Double

0.1f = [0}{01111011}/10011001100110011001101]

0.1f=+22 *( 21+24+2°+28+29+2%b X0
0.1f = 0.100000001490116119384765625
0.01f = P]-[01111000j[01000111101011100001010]

0.01f = 0.00999999977648258209228515625

e T "dgkevietar Y X



BaBapese

- @ 30cm O 450r

MekcukaHo
@ 30cm (O 450r

PEPSI

1Wwr X 79 rpH

1Wwr X 79 rpH

1 wr x 0.0099999997764826
PH
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11111111] - [0O000000000000000000000]
11111111] - [0O000000000000000000000]

:11111111: ’?’?’?’7’?’7’)’?’)’)’?’?’?’?’?’?’?’)’?’?’)’?’?

00000000] - [00000000000000000000000]

[00000000] -[00000000000000000000000

+0.0f == - 0.0f?
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Float
Double

ValueFloat get (
(d == ) {

(d== )1

( ValueFloat ) Value. cache( ValueFloat (d))
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*230 +4




< Long

m 10 *230 +4

00.1*2.3+0.04=2 ,,




@Embeddable
Amount

@Transient

Amount() {

Amount rate
: = scale
setRate (rate)

Serializable {
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BN
m 1 000000* 150000

o= (nt) ?
o= (long) ?




BN
m 1 000000* 150000

o= (nt) -323855360
o> (Iong)0.150000000000
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¥ 1 divide(2)
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¥ 1 divide(2)

w=0.5
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¥ > divide(3)

wFArithmeticException




w=0.666 ~0.667




B | jiyide(10).multiply(105 (1)

w="?
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B | jiyide(10).multiply(105 (1)

w="false
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= BD.valueQD.1f) (new BD(0.1f))

W=7
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= BD.valueQD.1f) (new BD(0.1f))

w="false
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BigDecimal 1 =

(l.compareTo ( ) < 0){

l.add ( TEN.multiply( 1)
divide( valueOf (3L)
}

System. printin - (1)
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ArithmeticException




BigDecimal 1 =

(l.compareTo ( y< 0){

l.add ( TEN.multiply( 1)
divide( valueOf (3L)
}

System. printin - (1)
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ArithmeticException




BigDecimal 1 =

(l.compareTo ( y< 0){

l.add ( y.multiply( 1)
divide( valueOf (3L)
}

System. printin - (1)
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